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%Q) , @@ Multiply decimals by powers of ten

Name: Date: Score:
10, 582 x 100000 = 3,693 x 10 =
8, 115 % 100 = 3,195 x 10 =
1,036 x 100000 = 1,225 x 10000 =
1, 896 x 1000000 = 7, 846 x 100000 =
2,526 x 10000 = 6, 836 x 100000 =
7,489 x 100 = 7,22 x 100000 =
7,211 x 100000 = 10, 282 x 1000000 =
8,395 x 100 = 1,27 x 10000 =
1,296 x 10000 = 2,463 x 1000 =
10, 859 x 10000 = 4,851 x 10 =
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f 9 @@{ Multiply decimals by powers of ten

Name: Date: Score:
10, 582 x 100000 = 1058200 3,693 x 10 =36.93
8, 115 x 100 =811.5 3,195 x 10 =31.95
1, 036 x 100000 = 103600 1,225 x 10000 = 12250
1, 896 x 1000000 = 1896000 7, 846 x 100000 = 784600
2,526 x 10000 = 25260 6, 836 x 100000 = 683600
7,489 x 100 = 748.9 7,22 x 100000 = 722000
7,211 x 100000 = 721100 10, 282 x 1000000 = 10282000
8,395 x 100 = 839.5 1,27 x 10000 = 12700
1,296 x 10000 = 12960 2,463 x 1000 = 2463
10, 859 x 10000 = 108590 4,851 x 10 =48.51
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